Miscellaneous concepts
Answer: a  Diff: E


.
Which of the following statements is most correct?

a.
Hostile takeovers are most likely to occur when a firm’s stock is undervalued, relative to its potential, because of poor management.

b.
One advantage to remaining a sole proprietor is that you have limited liability.

c.
In general, bondholders have a greater preference for riskier projects than do stockholders.

d.
Statements b and c are correct.

e.
All of the statements above are correct.

Agency
Answer: d  Diff: M

.
Which of the following statements is most correct?

a.
One of the ways in which firms can mitigate or reduce agency problems between bondholders and stockholders is by increasing the amount of debt in the capital structure.

b.
The threat of takeover is one way in which the agency problem between stockholders and managers can be alleviated.

c.
Managerial compensation can be structured to reduce agency problems between stockholders and managers.

d.
Statements b and c are correct.

e.
All of the statements above are correct.

Operating and net cash flows
Answer: a  Diff: M


.
Brooks Sisters’ operating income (EBIT) is $500,000.  The company’s tax rate is 40 percent, and its operating cash flow is $450,000.  The company’s interest expense is $100,000.  What is the company’s net cash flow?  (Assume that depreciation is the only non-cash item in the firm’s financial statements.)

a.
$  390,000

b.
$  550,000

c.
$  600,000

d.
$  950,000

e.
$1,050,000

Retained earnings
Answer: b  Diff: M

.
New Hampshire Services reported $2.3 million of retained earnings on its 2001 balance sheet.  In 2002, the company lost money--its net income was -$500,000 (negative $500,000).  Despite the loss, the company still paid a $1.00 per share dividend.  The company’s earnings per share for 2002 were -$2.50 (negative $2.50).  What was the level of retained earnings on the company’s 2002 balance sheet?

a.
$1.2 million

b.
$1.6 million

c.
$1.8 million

d.
$2.6 million

e.
$2.8 million

TIE ratio
Answer: b  Diff: E

.
Culver Inc. has earnings after interest but before taxes of $300.  The company’s times interest earned ratio is 7.00.  Calculate the company’s interest charges.

a.
$42.86

b.
$50.00

c.
$40.00

d.
$60.00

e.
$57.93

ROE
Answer: d  Diff: M

.
Assume Meyer Corporation is 100 percent equity financed.  Calculate the return on equity, given the following information:

Earnings before taxes
$1,500

Sales
$5,000

Dividend payout ratio
   60%

Total assets turnover
   2.0

Tax rate
   30%

a.
25%

b.
30%

c.
35%

d.
42%

e.
50%

�.	Miscellaneous concepts	Answer: a  Diff: E


If a firm’s stock is undervalued relative to its potential, then someone can profit by taking it over and doing a better job running it. Therefore, statement a is true. A sole proprietor does not have limited liability; only a corporation has limited liability. Therefore, statement b is false. Bondholders get their payment as long as the firm is not in default. Therefore, they would like the firm to stay less risky so they get their interest payments. If they owned a bond that promised to pay them 5 percent, and then the firm became risky, the default risk premium would be higher. However, the bondholders would still be getting the 5 percent return that compensated them for the old level of default risk. Therefore, statement c is false. Since statements b and c are false, Statements d and e must also be false.





�.	Agency	Answer: d  Diff: M


Statement d is most correct. Statement a is incorrect, because increasing the amount of debt can increase agency problems.





�.	Operating and net cash flows	Answer: a  Diff: M


NCF = NI + DEP and AMORT





EBIT		$500,000 (Given)


Interest	 100,000 (Given)


EBT		$400,000


Taxes (40%)	 160,000 (Given)


NI		$240,000





Operating cash flow = EBIT(1 - T) + DEP and AMORT


           $450,000 = $500,000(0.6) + DEP and AMORT


           $150,000 = DEP and AMORT.





NCF = $240,000 + $150,000


    = $390,000.





�.	Retained earnings	Answer: b  Diff:  M


EPS = NI/shares.


For 2002, -$2.50 = -$500,000/Shares


          Shares = -$500,000/-$2.50 = 200,000.





Dividends paid in 2002 = $1.00  200,000 = $200,000.





Looking at additions to retained earnings in 2002:


2001 Retained earnings    $2,300,000


2002 Dividends              (200,000)


2002 Net income             (500,000)


2002 Retained earnings    $1,600,000





�.	TIE ratio	Answer: b  Diff: E


  TIE = EBIT/INT


    7 = ($300 + INT)/INT


 7INT = $300 + INT


 6INT = $300


  INT = $50.











�.	ROE	Answer: d  Diff: M


Profit margin = ($1,500(1 - 0.3))/$5,000 = 21%.


Equity multiplier = 1.0 since firm is 100% equity financed.





ROE = (Profit margin)(Assets turnover)(Equity multiplier)


    = (21%)(2.0)(1.0) = 42%.








